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1. Part 'A’may be attempted in first 6 pages of Answer Sheet.
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2. Part ‘B’ in rest of the Sheets of Answer Sheet.
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, 3. Answers may be given in English or Hindi.
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- PART - ‘A’
1. Aftefnpt any ten questions : - , (10x2=20)

(@) What does resistor represent in any circuit?

(b) Define Electric flux.

(c) Whatis unit of power.

(d)~” Whatis unit of energy?

(€) ~ What s form factor? ‘

()~ Whatis equivalent of 3 capacitor each having value 6F connected in series?
(g) ~Define Tree. T

(h) = What is two port networks?
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()  Define frequenc
(mj’_» What is reciprocity condition of ABCD parameters?
(n)”" State Coulomb’s law. . _
2.. Attempt any five questions : : . : (5x4=20)
(@ Write an expression to convert delta to star. | :

(b) State Maximum power transfer theorem.
(c) Obtain incidence matrix of the network in fig.1

Fig.1

(d) Define power factor. What is lagging power factor?
(e) Findz- parameters of the network shown in figure2.
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Attempt any three questions.

(@)
(b)
(a)

(b)

(C)
(b)
(@)
(b)

(b)

i i ower.
AnAC circuit has v = 230sin¢ and j = 10sin¢ . Calculate active p

Write an expression to convert star to delta.
What are difference between tree and graph?
PART- B
(3x20=60)
State and proof superpostion theorem using an example.
Explain procedure to obtain thevenin's and Nortén's equivalent circuit.

Show that when two 2-port networks N1 and N2 are connected in parallel, the equivalent
Y-parameters of the combined network is the sum of Y-parameters of each individual 2-
port network.

Find ABCD parameters of the given network in fig.3

v 1 Fig.3

Explain two wattmeter method of power measurement in detail.
Determine the relationship between phase and line quantities in 3 phase delta connection.

Derive relatlonship between
thre
orthe

BCD parametrs. @
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By super-position theorem, calculate current I in the circuit shown in fig.5
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